
Page 12-16 2009-2011 DS Golf Cars Illustrated Parts List

G

E

12

D

000244-005

11

10

2

4
3

8

9

11

1

5

6

7



E

G

12

2009-2011 DS Golf Cars Illustrated Parts List Page 12-17

ITEM PART NO. DESCRIPTION

1    2    3    4

QTY

D

FORWARD/REVERSE SWITCH, TOW/RUN SWITCH

1 101856002 Switch, Rocker, Single-Pole .................................................................................................................... 1
2 101908101 Switch Assembly, Tow/Run .................................................................................................................... 1
3 101908401 Boot, Switch ................................................................................................................................................. 1
4 101922501 Bracket, Tow/Run Switch Mounting .................................................................................................... 1
5 102296920 Screw, M6 Torx Bttn Hd Sems ................................................................................................................ 2
6 102508401 Housing, FNR Electric ............................................................................................................................... 1
7 103262701 Bezel Adapter Fnr ....................................................................................................................................... 1
8 332 Washer, 1/4 Type A Narrow Flat ............................................................................................................ 2
9 8233 Locknut, 1/4-20 Nylon Insert ................................................................................................................. 2

10 8248 Screw, 1/4-20 X 0.75 Truss-Head Machine ........................................................................................ 2
11 8990 Tie Wrap, 8" Nylon ..................................................................................................................................... 1


